
 

 

                                                                   

                    

 
                                                          

                                                                                                             

 
 

 

 

 

 

 
Proving triangles are similar using lengths 

 
 

Q1 Prove that these two triangles are similar.   
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6cm 

C 

A 

Q2  
 
AB = 6cm, BC = 4cm, BD = 10.5 cm and BE = 7cm 
 
Prove that triangles ABC and BDE are similar.   
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